
Amplitud y Longitud de Arcos (C)
Nombre: Fecha:

Calcule la amplitud angular o la longitud de cada arco.
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Diámetro = 100 km

̸ RST =
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Amplitud y Longitud de Arcos (C) Respuestas
Nombre: Fecha:

Calcule la amplitud angular o la longitud de cada arco.

B

A

C
83°

?

Diámetro = 8 cm

AC⌢ = 83
360 × π × 8 = 5.79 cm

E

D

F

148°

?

Diámetro = 16m

DF⌢ = 148
360 × π × 16 = 20.66m

H

G

J
?

11.94m

Diámetro = 12m

̸ GHJ = 11.94
12×π × 360 = 114°

S

R

T

?
117.81 km

Diámetro = 100 km

̸ RST = 117.81
100×π × 360 = 135°
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